B—=HAILRATPU T+ —22014 BA1OBRL T v — XLIKAR

RPWEFER
TS HRIEEE FRL26E68118 (K)
1-20—k 11-120—h
AZOwD 1 2 3 4 |8 X |IBfI EJOvD 1 2 3 | 8Bx| X |IBEfI
1 |4#ASC 5—0|5—0| = 4 1 3 1 1 |OEBRHALTr—2(A) 3—2|56—0]| 4 1
2 |BIiILT+—2(C) 0—5 2—3| 2 3 2 |BIILTr—2(A) 2—3 5—0| 3 2
3 |[UEBBRHLT+—2B)|[0—56|3—2 * 3 2 3 [TEK AR (B) 0—5|(0—5 2 3
3 3
3:-4, 5:6J—h 13-140—k
BJOwD 1 ) 3 4 |8Bs| = |IBhs F7OwD 1 2 3 | 8BR| X |IBf
1 |’KPLT+—2(C) 3—2|2—3|0—5| 4 3 TEKAKR(A) 3—2|3—-2| 4 1
2 DLV 2—3 2—3|0—5| 3 4 0 3 | 2 |[D<LE@IRSC 2—3 2—3| 2 3
3 |[REMHBLIKIST [3—2(3—2 0—5| 5 2 wo=>7 2—3|3—2 3 2
4 |NEEDTT 5—0|5—0[(5—0 6 1 3|2
83— b 16-16 31— b
caw’ 1 2 3 4 |8 X |8 GOw7 1 2 3 |BxR| X |IBEfI
1 |BkESE 4—1(6—0]| =* 4 1 1 3 1 |JxZwI2R 5—0(2—3]| 3 2
2 [OEBRALT—2C) |1 —4 1—4| = 2 3 2 |’KPLT+—2(B) 0—5 1—4| 2 3
T2 POER 0—5|4—1 * 3 2 3 |ASPIC 3—2|4—1 4 1
2 1
9-100— k 17-183— bk
DZJOvD 1 2 3 4 |82 X |8l HZOwD 1 2 3 | Bx| X |IBfI
1 |SPC 4—114—1] =* 4 1 1 |[KATSUDOS T 5—0|5—0| 4 1
2 |’KPLFTv—2(A) 1—4 2—3| 2 3 3 1 2 ’KPLF+—2(D) 0—5 1—4| 2 3
FBLTT—2R 1—4|3-2 ok 3 2 3 (BiL7+—2(B) 0—56|4—1 3 2
ERFHERKETF—L)
<5f1 -« BRIREE > T ARSC <AKRE>
NESDST — H18 : LH26F98208 (1) (@) -218(8) UBA)
\ 1 21 ToARA (A) 215 | BEEIRHBRIAEE B S IE
HiEeE 0 3f1{SPC @
VEBBHALT 1 =2 (A) 8 41 {ASPiC 37—t 023113112
KATSUS57 ’ 51 KATSUZ5T PN K1 =1 K
61 (MEEDST 2-312-4|3-4




